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The differance In presiure balween he almosphers and 1he hurnan Wngs 51 .05 % 108 Pa, Who!
Is the longas! slrow you could use 1o draw up milk whose dansity Is 1030 kg/rmo?
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Nancy ks basting o roas! turkey with a meal baster lhat creqles g pressura of 9 980 x

o ;.3
when fhe plastic bub if squeezed and releasad. If Turkey juice rises 0.0900 m up e fube of
the baster, whot Is the density of the juice?
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Rex. on outo mechanic i raising a 1200 k
uncemeqin. If tha area of the input pisto

g car on his hyarauic #1 50 that he con work
700 crm. what force

nis 120 cm’ white the output paton has 0 oreo of
must be exarted on the Inpu! piston to i e con?
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Ben's lavorite ride of the Bamrel-O-Fun Amusement Park is the Flying Umbrela, which & Miod by
0 hyaraulic jock. The operator aclivates the ride by opplying a force of 72N o & 20 em ~ide
Cylindrical pisfon, which holds the 20,000 N ride off the ground. What is the clometer of the
piston thal holds the ride?
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